Routing - HYAC 2007 T660 C15

F95-1094

01

ADIVISION OF PACCAR
12 11 10 7 5 4 3 1
H H
G G
petaL C
SCALE 1:1 peTalL B
SCALE 1:1
F F
E E
|
petaL G t
SCALE 1:2 @
N
\
\
D D
2 | 13 |K363-338-2-250 WASHER, FLAT STL, M6
6 | 12 |K041-802-30CA BOLT, FINISHED HEX
i 4 | 11 |K363-338-2:312 WASHER, FLAT STL, M8
—sEeE DETAIL G
2 | 10 |K041-803-40CA BOLT, FINISHED HEX
2 9  |K169-163-8CA NUT HEX, LKNG STL, M8
7 8 |K169-163-6CA NUT HEX, LKNG STL, M6
c 2 7 |K206-34-15 SCREW-THREAD, ROLLING c
6 6 |D16-6003-7612106 CLAMP-CUSHIONED
fffffffffffffff s 3 5 |D16-6003-5412110 CLAMP-CUSHIONED
2 4 |D16-6003-5412116 CLAMP-CUSHIONED
1 3 |K028-2489-18 A/C HOSE STANDOFF BRACKET
6 2 |Y84-6000-013 RELEASABLE TIE
B X x B
see DETAL B 2 1 |W62-6000 MOUNT-DUAL TIE
NOTES:
1) FOR USE ON T600 WITH 2007 C15 COMMON CHASSIS MODELS
AND BEHR COLING MODULE.
A 2) TORQUE FASTENERS PER R026-198-42. A
DWG
SIZE
Al
12 11 10 7 5 4 3 1




02

F95-1094

Routing - HYAC 2007 T600 C15

ADIVISION OF PACCAR

A
DWG

SIZE

Al

10

11

12

X
=
z
w
[a)
w
w
2]

SEE DETAIL J

petaL D

pETAL E

SCALE 1:2
(REF)

SCALE 1:2

DETAIL J

peTaL K

SCALE 1:2

SCALE 1:2

SEE DETALL F

petaL F
SCALE 1:2

INTAKE ELBOW NOT SHOWN FOR CLARITY

10

11

12




03

Routing - HVAC 2007 T600 C15 F95-1094
12 11 10 5 1
’
G
F
E

D D
DETAL S
SCALE 1:1
c c
B B
peETAL M
A SCALE 1:1 A
DWG
SIZE
Al
12 11 10 7 6 5




